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Choose the word that is most similar in meaning to "benevolent":

Kind

a) Cruel \ b) Kind \ ¢) Indifferent \ d) Harsh b)

Which sentence is grammatically correct? We were
watching a
movie last night.

a) He don’tlike | b) She goingto | c) They has d) We were

to travel. the market finished their watching a d)
every day. work. movie last
night
Find out the false statement(s): II & IV are
I. A synonym for “happy” is “Joyful” False
II. “Quickly” is a noun.
III. The past tense of “go” is “went”
IV. “They were playing soccer” is correct
a) IV is False b) II & IV are ¢) Il is False d) All are False b
)
False
Relate the Assertion and Reason: Both A and R

Assertion (A): Articles "a" and "an" are used before singular, countable

nouns.

Reason (R): "An" is used before words that begin with a vowel sound.

are true, and R
is the correct
explanation of

a)BothAand R | b) BothAand R | c)Ais true, but d) A is false, but | a)
are true, and are true, but R R is false. R is true. A:
R is the is not the Assertion
correct correct
explanation explanation
of A of A.
Match the following: 1-B, 2-D, 3-C,
4-A
1. Noun A. Quickly
2. Verb B. Teacher
3. Adjective C. Beautiful
4. Adverb D. Jump
a) 1-B, 2-D, 3-C, | b) 1-C, 2-A, 3-B, | ¢) 1-D, 2-B, 3-A, | d) 1-A, 2-C, 3-
4-A 4-D 4-C D, 4-B 2)
What is the name of the Ukrainian capital that has been a key target during the Kyiv
Russia-Ukraine war?
a) Lviv ‘ b) Odesa ‘ ¢) Kyiv ‘ d) Kharkiv c)
Match the Currency with Country. 1-D, 2-A, 3-C, 4-
B
1. Taka A. Japan
2. Yen B. UK
3. Dollar C.USA
4. Pound D. Bangladesh




a) 1-B, 2-A, 3-D, |b)1-B,2-A,3-C, |c)1-D,2-A,3-C, |d) 1C,2-A,3D, |c)
4-C 4-D 4-B 4-B
8 Who is the current Secretary-General of the United Nations? Antoénio Guterres
a) Anténio b) Jens ¢) Ban Ki-moon d) Kofi Annan a)
Guterres Stoltenberg
9 Who is the first Indian to win an individual Olympic gold medal?
Abhinav Bindra
a) Milkha Singh | b) Leander Paes | ¢) Abhinav Bindra | d) Marry Kom c)
10 The famous Tawang Monastery belongs to which Buddhist sect?
Gelugpa
a) Theravada | b) Zen | c¢) Gelugpa | d) Mahayana c)
11 Who has been appointed as the 52" chief Justice of India (CJI) in May Bhushan
20257 Ramkrishna
Gavai
a) Bhushan b) Satish ¢) Rajan Roy d) Attau Rahman
RamkrishnaG Chandra Masoodi a)
avai Sharma
12 | BRICS expanded its membership in 2024 by including Saudi Arabia
and UAE
a) Australia and | b) Japan and ¢) Canada and d) Saudi Arabia d)
New Zealand South Korea Mexico and UAE
13 Relate the Assertion and Reason:
Assertion (A): The United Nations declared 2025 as the International Year | Both Aand R
of Quantum Science. are true, and R
is the correct
Reason (R): Quantum Science is considered crucial for future technologies. | explanation of A
a)BothAand R | b) BothAand R | c)Ais true, but d) A is false, but
are true, and are true, but R R is false R is true
R is the is not the
a)
correct correct
explanation explanation
of A of A
14 | Relate the Assertion and Reason:

Assertion (A): India hosted the G20 Summit in 2023.
Reason (R): The G20 presidency rotates every 5 years.

A'is true, but R
1s false

a) Both A and R
are true, and
R is the
correct

explanation
of A

b) Both A and R
are true, but R
is not the
correct

explanation
of A

¢) A is true, but
R is false

d) A is false, but
R is true

c)




15 | Match the government schemes with their purpose:
A. PM Awas Yojana 1. Clean India . ) B
B. Swachh Bharat Abhiyan | ii. Income for Farmer g:i:’l’ B, C-i,
C. PM Kisan Yojana iii. Promote Online service
D. Digital India iv. Affordable Housing
a) A-iv, B, C-ii, | b) A-ii, B-i, C-iv, | ¢) A-i, B-ii, C- d) A-ii, B-i, C- 2)
D-iii D-iii iii, D-iv iii, D-iv
16 | If the mode of a data set is 20, it means: 20 occurs most
frequently
a) The average b) 20 occurs ¢) 20 is the d) 20 is the
of the data is most largest middle value b)
20 frequently number
17 If a boy walks 10 meters North, turns right and walks 10 meters, then turns
right again and walks 10 meters, he is now facing South. True
a) True b) False c) True, only if d) False, he is
he turns left facing East a)
afterward
18 Relate the Assertion and Reason: Both A and R
Assertion (A): Even numbers are divisible by 2 are true, and R
Reason (R): All even numbers end in 0, 2, 4, 6 or 8 is the cogect
explanation of A
a)BothAand R | b) BothAand R | c)Ais true, but d) A is false, but
are true, and are true, but R R is false R is true
R is the is not the
a)
correct correct
explanation explanation
of A of A
19 Match the terms with their meaning:
A. Cost Price 1. Price at which an item is sold A-ii, B-i, C-iii,
B. Selling Price ii. Price at which an item is bought D-iv
C. Profit iii. SP> CP
D. Loss iv. SP < CP
a) A-iii, B-i, C- | b) A-ii, B-i, C-iv, | ¢) A-i, B-ii, C- d) A-ii, B-i, C- d)
ii, D-iv D-iii iii, D-iv iii, D-iv
20 | Which of the following statements is true? Every irrational

number is a real
number

a) Every
irrational
number is a
real number

b) Every real
number is
rational

c¢) Every integer
is a natural
number

d) Zero is not a
whole
number

a)




21 | Radio Carbon dating method was developed by )
WEF Libby
a) WF Libby b) Niels Bohr ¢) Mary Curie d)
Chandrasekha
r 2)
Venkatraman
22 | “Dendrochronology” was developed by
AE Douglas
a) WFLibby | b) Niels Bohr | c) AE Douglas | d)J R Arnold c)
23 | Find out the False statement:
I. The half life of potassium-40 is 1.3 billion years
II. The half life of carbon-14 is 5730 years v
III. KL dating requires volcanic ash
IV. Thermoluminiscence does not require volcanic ash
a) I (D) I&II (O &IV [ D)1V d)
24 | Relate the Assertion and Justification:
A'is true but J is
Assertion (A): Archeology is a study of the past. false
Justification (J): Hence, history is not required.
a)Aistrue butJ | b)both AandJ c¢)Aistrue butJ | d)Ais true but
is false are true is not a J is a proper
proper justification 2)
justification
25 | Megalithic traditions started during
Iron Age
a) Neolithic b) Mesolithic c) Iron Age d) bronze Age
Period Period ©)
26 | Find out the True statement:
I. Handaxe is a tool that developed during Paleolithic
II. Megaliths developed during Mesolithic [
III. Agriculture developed first in Europe
IV. Cat was the first domesticated animal
a) I D) | o) III [ DIV a)
27 The term Abbevillian is now replaced by
Oldowan
a) Acheulian | b) Oldowan | ¢) Mousterian | d) Perigordian b)
28 | Ethoarcheology studies...... ? Living
Prehistoric

cultures which
are continuing at
present




a) Ethnography | b) Living c) Ethnography | d) History and
and sociology Prehistoric and social sociology
cultures anthropology b)
which are
continuing at
present
29 Find out the False statements:
A. Study of stone tools is irrelevant at present
B. Study of Museum is irrelevant at present as we live in software era now Aand B
C. Paleoanthropology studies primate fossils
D. Archeology is a fieldwork based study
a) A | b)Aand B |c)Aand C | d)D b)
30 . - -
Who invented Pasri Parlo site of Arunachal Pradesh Abdullah Al
Ashraf
a) Abdullah Ali | b) T C Sharma ¢) H C Sharma d)HD 2)
Ashraf Shankalia
31 | Match the following:
A Blade tools I Lower Paleolithic A-TI, B- 1, C-
B Hand axe IT Upper Paleolithic 111,
C Microliths IIT Mesolithic D- IV
D Mace head IV Neolithic
a) A-ILB-I,C- |b) A-LLB-1I,C- |¢) A-II,B-1,C- | d) A-1I, B-1, C- )
I, D- IV III, D- IV 1V, D- 111 111, D- IV a
32 | Rock paintings were found in which of the following site?
Bhimbetka
a) Burzahom b) Daojali ¢) Bhimbetka d) All of them ©
Hading
33 Who coined the term Neolithic Revolution for Neolithic Period?
V Gordon
Childe
a) EB Tylor b) Emile ¢) V Gordon d)HD o)
Durkheim Childe Shankalia
1 ; - 5
3 Art developed during which period? Upper
Paleolithic
a) Lower b) Middle c) Upper d) Mesolithic )
Paleolithic Paleolithic Paleolithic ¢
35 Cave Altamira is a cave art site located in which European country?
Spain
a) Spain | b) France | c) Italy | d) Portugal a)




36 | Concept of religion seems to develop during which lithic era? Middle
Paleolithic
a) Lower b) Middle c¢) Upper d) Mesolithic b)
Paleolithic Paleolithic Paleolithic
37 | During Ice Age, Northern and Southern hemispheres of Earth were covered | heavy rainfall
with ice, but what happened to the equatorial zones at that time? named as pluvial
period
a) heavy rainfall | b) dry climate c) formation of | d) temperate
named as deserts climate a)
pluvial period
38 | Which one of the following is a journal of Archeology?
Ancient Asia
a) Indian b) Oriental ¢) Ancient Asia | d) Easten
Anthropologi Anthropologi Anthropologi | ¢)
st St st
39 | Relate the Assertion and Reason:
Ais false but B
Assertion (A): Stone tool is not required in archeology is true
Reason (B): Along with stone tools, pottery and cultural resource
management is also important at present
a)Aistruebut B | b)bothAand B | c) Ais true but B | d) A is false but
is false are true is not a B is true d)
proper
justification
40 | Match the following pairs according to the authors and books:
g. ?rchgeology I. Study of la}/ers A-IIL B-IL C-L.
. Prehistory II. Before written record DIV
C. Stratigraphy III. Study of human past via material remains
D. Typology IV. Classification of artifact
a) A-1I, B-1V, C- | b) A-L, B-1V, c) A-III, B-II, C- | d) A-IL, B-1I1, C-
I, D-1II C-1I1, D-1I I, D-IV I, D-IV ©)
41 The first metal used by human was
Copper
a)Gold | b)Iron | c)Copper | d) bronze c)
42 | Match the following:
A-1T
A Upper Pleistocene I Post Glacial B-III
B Middle Pleistocene II Third Interglacial C-Iv
C Lower Pleistocene IIT Second Interglacial D-I
D Holocene IV First Interglacial
a) A-1I, B-1II, C- | b) A-L, B-II, C- | c) A-II, B-I, C- | d) A-II, B-IV, C- 2)

IV, D-1 IV, D-1 1V, D-1I I, D-1II




43 | The significant feature of Mesolithic culture was
microliths
a) microliths b) absence of ¢) no stone tools | d) potsherds
microliths 2)
44 Bow and arrow emerged during Upper
Paleolithic
a) Lower b) Middle ¢) Mesolithic d) Upper
Paleolithic Paleolithic Paleolithic d)
45 Who excavated the Daojali Hading, a Neolithic site in Assam, India:
TC Sharma
a) TC Sharma b) HC Sharma ¢) BM Das d) Sukanya
Sharma 2)
46 | Justify the following:
Assertion (A): Parsi Parlo is located in Arunachal Pradesh Both A and B
are true
Reasoning (B): It can enhance the heritage tourism of Arunachal Pradesh
a) A is true and b) BothAand B | ¢) Ais false but | d) Both Aand B b)
B is false are true B is true are false
47 | Match the following Prehistoric sites with respective states:
A. Burzahom I. Madhya Pradesh _ P
B. Bhismak Nagar II. Kashmir A-IL B-IILC-L;
C. Bhimbetka III. Arunachal Pradesh D-IV
D. Nartiang IV. Meghalaya
a) A-1, B-1I1, b) A-I, B-IV, C- | ¢) A-1V, B-1II, d) A-II, B-III, C- d)
C-111, D-IV III, D-11 C-11, D-1 I, D-IV
48 What is Enculturation? Learning one’s
own culture
a) Learning b) Cultural loss c¢) Learning one’s | d) Mixing of c)
another’s own culture cultures
culture
49 | Relate the Assertion and Reason: Both A and R are
true, and R is the
. . L . . correct
Assertion (A): Participant observatlol.l is a key m(?thod in ethnographic resegrch. explanation of A
Reason (R): It allows anthropologists to experience the culture from the inside.
a) Both Aand R b) Both Aand R ¢)Aistrue, but R | d) Ais false, butR | a)
are true, and R are true, but R is false is true
is the correct is not the
explanation of correct
A explanation of
A
50 Anthropology is the study of Holistic Study of

Mankind




a) Holistic Study b) Biological ¢) Social Study of | d) Archaeological | a)
of Mankind Study of Human Beings Study of
human Beings Human Beings
51 | Which of the following methods are used for data collection in All are True
Anthropology? except iii
I.  Observation
II. Interview
III. Snow ball
IV. Case Study
a) All are True b) All are False ¢) All are True d) Only iiis True | a)
except iii except iii & iv
52 Match the following Marriage forms: A-i, B-ii, CHiii,
D-iv
A Monogamy i One man, one woman
B Polygyny ii One man, many women
C Polyandry iii One woman, many men
D Polygamy iv Multiple spouses
a) A-iii, B-iv, C-i, | b) A-i, B-ii, C-iii, | c¢) A-ii, B-i, C-iii, | d) A-i, B-ii, C-iv, |b)
D-ii D-iv D-iv D-iii
53 Endogamy is a system in which one marries: Within a specific
group or caste
a) Outside the clan | b) Within the ¢) Anyone of d) Within a d)
religion only choice specific group
or caste
54 Which of the following best defines 'ethnocentrism'? Belief that one's
own culture is
superior
a) Study of ethnic | b) Fusion of ¢) Cultural d) Belief that one's | d)
groups cultures relativism own culture is
superior
55 The term 'Culture' was first scientifically defined by: E. B. Tylor
a) E. B. Tylor b) Margaret Mead | c) Emile d) M. N. Srinivas | a)
Durkheim
56 The concept(s) that refer(s) to the cultural practice of giving a person from a ii is True
higher social status more authority or respect than others?
I. Egalitarianism
II. Hierarchical Society
III. Social Stratification
IV. Matriarchy
a)i&iiisTrue | b)iisTrue | ©)ii is True | d) i, ii & iii is True | ¢
57 | Relate the Assertion and Reason: Ais true, but R is

Assertion (A): Culture is learned and shared.
Reason (R): Culture is transmitted genetically from one generation to the next.

false

a) Both Aand R
are true, and R
is the correct

b) Both A and R
are true, but R
is not the

¢) Ais true, but R
is false

d) A is false, but R
is true

9




explanation of
A

correct
explanation of
A

58 What is ‘Kinship’ in anthropology? All are False
I. The study of economic systems
II. The examination of religious beliefs
III. The investigation of political system
IV. The investigation of oral tradition
a)iis True | b) All are True | ¢) All are False | d) iv is True c)

59 What is acculturation? Cultural change
due to contact
with another
culture

a) Preservation of | b) Rejection of ¢) Reverting to d) Cultural change | d)
traditional modernization earlier cultural due to contact
customs stages with another

culture

60 Match the following Fieldwork Tools: A-iii, B-i, C-i,
D-iv

A Genealogies i Written daily observations

B Life Histories ii Study of personal experiences
C Field Notes iii Family and kinship structures
D Mapping iv Spatial relationships

a) A-iii, B-ii, C-iv, | b) A-ii, B-iii, C-i, | ¢) A-iii, B-ii, C-i, | d) A-iii, B-iv, C-i, o
D-i D-iv D-iv D-ii

61 Which tribe is known for its matrilineal system in India? Khasi

a) Bhutia | b) Khasi | ¢) Santhal | d) Gond b)

62 A “‘patrilineal’ society traces descent through: Fathers line

a) Mothers line | b) Fathers line | ¢) Adoption | d) Both parents b)

63 Which concept(s) refers to understanding a culture from its own perspective iv is True

without imposing external judgements?
I. Ethnocentrism

II. Symbolic Interaction

III. Structural Functionalism

IV. Cultural Relativism

a)i & ivis True | b) i1is True | ¢) il & iii is True | d) iv is True d)

64 Match the forms of religion: A-iii, B-iv, C-i,
D-ii

A Animism i Many gods
B Totemism ii One god
C Polytheism iii Belief in spirits
D Monotheism iv Animal/plant as ancestor
a) A-iii, B-iv, C-ii, | b) A-ii, B-iv, C-iii, | ¢) A-i, B-ii, C-iii, | d) A-iii, B-iv, C-i, | d)
D-i D-ii D-iv D-ii

65 “Argonauts of the western Pacific” was written by? Malinowski

a) Mead | b) Malinowski | ¢) Geertz | d) Tylor b)




66 The study of language in cultural context is called: Ethnolinguistics
a) Semiotics | b) Phonology | c¢) Ethnolinguistics | d) Morphology c)
67 Which state is home to the highest number of recognized tribes in Northeast Arunachal
India? Pradesh
a) Assam b) Manipur ¢) Arunachal d) Mizoram c)
Pradesh
68 The Hornbill Festival is a cultural celebration held annually in: Nagaland
a) Meghalaya | b) Tripura | c) Nagaland | d) Assam c)
69 Which anthropologist is known for the concept of "culture and personality"? Ruth Benedict
a) Leela Dubey | b) S. C. Dubey | ¢) Margaret Mead | d) Ruth Benedict | d)
70 Which of the following statements are true about the scope of social All are True
anthropology?
I. It studies kinship, marriage, and family structures
II. Tt includes the study of economic and political institutions
III. It relies heavily on ethnographic fieldwork
IV. It examines social change and continuity
a) ii & iv are True | b) ii & iv are False | ¢) All are True | d) All are False c)
71 Relate the Assertion and Reason: Ais true, but R is
false
Assertion (A): Kinship studies are central to social anthropology.
Reason (R): Kinship has no relevance in modern complex societies.
a) Both Aand R b) Both Aand R c¢)Aistrue,but R | d) Ais false, butR | ¢)
are true, and R are true, but R is false. is true
is the correct is not the
explanation of correct
A. explanation of
A.
72 “Sacred complex at Gaya” is attributed to which of the following Anthropologist L. P. Vidyarthi
of India?
a) E. B. Tylor | b) Robert Redfield | ¢) L. P. Vidyarthi | d) Leela Dubey ¢)
73 Relate the Assertion and Reason: Both A and R are

Assertion (A): Participant observation is a key method in social anthropology.
Reason (R): It allows anthropologists to understand emic (insider) perspectives
of a culture.

true, and R is the
correct
explanation of A

a) Both Aand R b) Both Aand R ¢)Ais true, but R | d) Ais false, but R
are true, and R are true, but R is false is true
is the correct is not the
explanation of correct
A explanation of
A

a)




74

Match the Tribes with their Locations:

A-ii, B-iii, C-iv,
D-i

A. Toda i Meghalaya
B. Santhal ii Tamil Nadu
C. Bhil iii Jharkhand
D. Garo iv Rajasthan
a) A-iii, B-iv, C-ii, | b) A-ii, B-iii, C-iv, | ¢) A-ii, B-iv, C-iii, | d) A-i, B-ii, C-iv, | b)
D-i D-i D-i D-iii
75 | The study of skull shapes and sizes in anthropology is called ,
Craniometry
a) Osteology b) Craniometry | c) Serology d)
Paleopatholog | b)
y
76 | Mitochondrial DNA is inherited: only from the
mother
a) from both b) only from the | c) only from the | d) randomly
parents mother father from either b)
parent
77 Neanderthals and Homo sapiens never interbred False, DNA
evidence shows
interbreeding
a) True, they b) False, DNA ¢) True, due to d) False, but
lived in evidence biological only in Africa b)
different shows incompatibilit
regions interbreeding y
78 | Relate the Assertion and Reason: Both A and R
Assertion (A): Humans are classified under the order Primates. 'are true, and R
Reason (R): Humans have opposable thumbs and binocular vision. is the cogect
explanation of
A.
a)BothAand R | b) BothAand R | c)Ais true, but d) A is false, but
are true, and are true, but R R is false. R is true.
R is the is not the 2)
correct correct
explanation explanation
of A. of A.
79 Match the scientist with their contribution:
A. Charles Darwin i. Principles of inheritance . .
B. Gregor Mendel ii. Evolution by natural selection A’?“ B-i; C-ii;
C. Raymond Dart iii. Discovered Taung child D-iv
D. Louis Leakey iv. Discoveries in Olduvai Gorge
a) A-ii; B-1; C- b) A-iv; B-i; C- | ¢) A-ii; B-iii; C- | d) A-ii; B-1; C- d)
iv; D-iii ii1; D-ii 1; D-iv iii; D-iv
80 | The shape of the pelvis provides important clues about bipedalism True, especially

in fossil
hominins




a) True, b) False, only c¢) True, but only | d) False, the
especially in the skull in modern pelvis is
fossil provides such humans unrelated to a)
hominins clues movement

81 | Match the type of primate with its locomotion style:
A. Gibbons i. Knuckle-walking A-iii, B-ii, C-i,
B. Baboons ii. Quadrupedal on ground D-iv
C. Chimpanzees iii. Brachiation
D. Humans iv. Bipedalism
a) A-iii, B-i, C- | b) A-iv, B-ii, C-i, | ¢) A-iii, B-ii, C- | d) A-ii, B-iii, C-
ii, D-iv D-iii 1, D-1v 1, D-1v c)
82 : " n : : ()

The famous fossil "Lucy" belongs to which species’ Australopithecus

afarensis

a) b) Homo habilis | ¢) d) Homo erectus
Australopithe Australopithe c)
cus africanus cus afarensis

83 Which region is often referred to as the “Cradle of Humankind” due to its .
rich fossil findings? South Africa

a) Amazon Basin | b) South Africa | ¢) Northern d) East Asia

Europe b)
84 | Relate the Assertion and Reason:

Assertion (A): Cranial capacity increased during human evolution. Ads true, R is
Reason (R): Larger brains facilitated better heat retention in cold false.
climates.

a)BothAand R |b)BothAandR |c)Aistrue, Ris | d)Ais false, R is
are true, but R are true, and false. true.
is not the R is the o)
correct correct
explanation explanation
of A. of A.

85 | Match the type of adaptation with the environment it suits:
A. High melanin i. Cold climates A-iv, B-ii, C-iii,
B. Broad nose ii. Hot, humid climates D-i
C. Narrow nose iii. Dry, cold climates
D. Short limbs iv. High UV radiation areas
a) A-iv, B-ii, C- | b) A-ii, B-iv, C- | ¢) A-iv, B-ii, C-i, | d) A-iv, B-i, C- 2)
iii, D-i iii, D-i D-iii iii, D-ii
86 | Which field studies human biological and physiological characteristics and . .
Biological

their evolution?

Anthropology




a) Cultural b) Linguistic ¢) Biological d) Archaeology 0
Anthropology Anthropology Anthropology
87 | The biological concept of race has no scientific basis in genetics. True, genetic
variation is
clinal and
continuous
a) True, genetic | b) False, races ¢) True, but used | d) False, races
variation is are for medical exist in all
clinal and biologically classification species a)
continuous distinct
groups
88 | What is the fundamental unit of heredity in humans? Gene
a) Chromosome | b) Gene | c¢) DNA | d) Nucleus b)
89 Match the anatomical feature with its evolutionary advantage:
A. Bipedalism i. Tool use and manipulation A-iv, B-i, C-iii,
B. Opposable thumb | ii. Improved heat regulation D-ii
C. Larger brain iii. Enhanced cognitive function
D. Sweat glands iv. Efficient locomotion
a) A-iv, B-iii, C- | b) A-ii, B-i, C- ¢) A-iii, B-i, C- | d) A-iv, B-i, C- d)
i, D-ii iii, D-4 iv, D-ii iii, D-ii
90 | What is the primary focus of paleoanthropology? Human
evolution and
fossil records
a) Modern b) Ancient ¢) Human d) Animal
human human evolution and domestication | c¢)
genetics cultures fossil records
91 | Humans share approximately 98-99% of their DNA with chimpanzees. True, based on
genetic studies
a) True, based on | b) False, the c¢) True, but only | d) False, humans
genetic similarity is in are
studies under 90% mitochondrial genetically 2)
DNA unique
92 | Which of the following is a sex-linked genetic disorder? -
Hemophilia
a) Sickle-cell b) Huntington's | ¢) Hemophilia d) Cystic fibrosis
anemia disease c)
93 | Match the anthropological method with its purpose:
A. Craniometry i. Age and sex estimation A-i, B-ii, C-iii,
B. Osteology ii. Study of human bones D-iv

C. Serology

iii. Blood analysis

D. Dental anthropology

iv. Study of teeth patterns




a) A-i, B-iii, C- | b) A-ii, B-i, C- ¢) A-i, B-ii, C- d) A-ii, B-i, C- 0
ii, D-iv iii, D-iv iii, D-iv iii, D-iv
94 | What type of inheritance is shown in human blood groups (ABO system)?
Co-dominance
a) Complete b) Incomplete ¢) Co-dominance | d) Sex-linked o)
dominance dominance inheritance
95 | Which molecule carries genetic information from the nucleus to the
cytoplasm? mRNA
a) tRNA | b) mRNA | ) IRNA | d) DNA b)

96 Acclimatization refers to long-term genetic changes in populations. False, it refers to
short-term
physiological
changes

a) True, it occurs | b) False, it refers | c) True, d) False, it's
over to short-term especially in related to b)
generations physiological cold climates migration
changes
97 | What is the process by which DNA is copied before cell division?
Replication
a) Transcription | b) Translation ¢) Replication d)
Recombinatio
c)
n
98 | Match the genetic terms with their definitions
A. Gene i. Different versions of a gene A-iii, B-i, C-ii,
B. Allele ii. Location of a gene on a chromosome D-iv
C. Locus iii. Basic unit of heredity
D. Genome iv. Complete set of genetic material
a) A-iii, B-i, C- | b) A-ii, B-i, C- ¢) A-iii, B-iv, C- | d) A-ii, B-i, C- 2)
ii, D-iv iii, D-iv ii, D-i iii, D-iv
99 | Which of the following is a key feature distinguishing humans from other
primates? Bipedalism
a) Larger canine | b) Bipedalism ¢) Prehensile d) Enhanced
teeth tails sense of smell | b)
100 | Which of the following is/ are not a function of human skeletal system?
I. Blood cell production
II. Storage of minerals v

III. Protection of internal organs
IV. Secretion of hormones




a)All of them

b, II & IV

Ol &IV

DIV

d)




